Mathematik GK 11 m1, AB 04 — Polynomdivision/Nulistellen — L6sung 05.12.2019
Aufgabe 1: Berechne  (2x’+ x*+ 7x’—8x"—2x—5): (x’+ 3x —5)
(2x7+ xt+ 7%’ —8x" —2x—5):(x’+3x—5)=2x"+ x+ 1 Rest —x

—(2x°  +6x°—10x2)
x4+ X+ 252

—(x* +3x°=5x)
= xX*+3x
—(x’ +3x—5)
_xz

Aufgabe 2: Bestimme die Nullstellen der Funktion 1 (x)=2x*+ 8x’—30x’ —116x —80
0=2x+8x,—30x.—116x,—80
x,=—1 durch Probieren

(2x*+8x’=30x"—116x—80):(x+1)=2x"+6x"—36x—80
_(2 4_'_2 3)
6x°
_(5 4 6 z)

—36x°

Wannwird 2x*+6x*—36x—80 gleichnull? = x,=—2 durch Probieren
(2x°+6x* =36 x—80):(x+2)=2x"+2 x—40
_(2 344 2)
2x°
—40x
—(=40x—80)
0
Wann wird 2 x.+2x,—40 gleich null?
2x.42x,—40=0 | :2
o xo+x,—20=0
p-g-Formel: x,,=—0,5+0,5+ 20=—0,5+4,5 =x=—5;x,=4

Also x,=-1;x,=—2;x,=—5;x,=4
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